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PVET/14
~ 200 m<fi~ ~ ~ CFiT"Wrn: 3.00 ~I
Time for marking all 200 Questions: 3.00 Hours]

I~ 3iq:j : 200

IMaximum Marks: 200

Set-A
-;frc

~ ~ r;rv;fi cnr "fm'f ~ 'f.M -w-r
1. ~"l~fill'lI~ 01 - SO SO
2. !llfijll'lI~ 51 - 100 50
3. 'lijfilCfiI'II~ 101 150 SO
4. HlIll"ll'lI~ 151 200 SO

<itTr 200 I
2. ~"\IV'!- -q;f ii ~ 200 "\Iv-f. ~ 1 it 200 oq; t v:ci ~ "\IV'! 01 ~ 'fiT t" I ~\f1 "\IV'! 3lf.:rew:f t I ~ ~ ~ 11ff t" I
3. "\IV'!- ~ cf>1f6<li"\!ITm qft ~ 'fiT fiR1R -zpg 'PO'R G'TTTt~:m it 'Il{<'i I m~ it"\PR- ~ ii wfI~.l(j ~/<S!'lS ~ ~

~ If!ITt cf>"\IV'! ~fi:~fffirt <IT"\IV'! ~ ~ <it 11ff t <IT"\IV'! ~ it 11ff t 3lTfi: qft ~ 3lf.:rew:f ~ itqi I

4. "\IV'!- ~ ii fcI>m."lI"IfiR qft W; 1!Tit -;;if.t 'R W "112Jtl 15 fi:Rc ii ~ W "\IV'! - ~ G'T-;;nWft I

5. "\IV'! - -q;f m'I q;-f.rit ~ "\Iv-f- ~ cf> 31Rm 'PO 'R ~ f.$ji ~ ~ ~ v:ci "3'fCIi1~ it 'lR'R ~ I "!Iv-ff <f; 'am eft"TJf
aU.~.3m".~~ @:tQI41,!4Cfi~~cnrm.affino~ I

6. fcI;m ~"lI"IfiR cf> ci\cl'b.cl<!{. ~ 1:f>T;r<ITfcI>m ~ft"lI"IfiR cf> 3T"ll" $clCl{ff-1,*, ~ v:ci "ffirT ~ 'fiT ~ 'fi<'ir"Clf;ffi t" I

NOTE
1. This paper description & division of Questions as follows :

S. No. SUbject S. NO. of Question Total Question
1. Botany 01-50 50
2. Zoology 51-100 50
3. Physics 101-150 50
4. Chemistry 151-200 50

Total 200
2. This question booklet contains 200 questions numbered from 1 to 200 and each question carries 01 mark. All questions are

compulsory. There is no negative marking.
3. Tally the number of pages along with no. of questions printed on cover page of the booklet. Also check that question booklet

contains the questions of all relevant subjects/topics. as required and stated above and no repetition or omission of questions
is evident.

4. If any discrepancy is found in the Question Booklet the same can be replaced with another correct Question Booklet within first
15 minutes.

5. Before answering the questions please read carefully the instructions printed on the back cover page of the question booklet
and strictly follow them. Indicate your answers by blacking bubbles carefully only on the O.M.R. Answer Sheet
provided.

6. Use of any type of calculator. mobile phone or any other electronic equipment and log table etc. is strictly prohibited.
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1. "1:AR a2lT ~ ~ ~ t f.:r1:=r ~ cfi :

(A) ql~1~lCfl<ol

(8) fcfiucR

(C) 3lmCR

(D) f.1'lfffiCfl(OI

Which is the process done to get cheese and curd?
(A) Pasteurization
(8) Fermentation
(C) Distillation
(D) Dehydration

2. afuft~mt~-q ~ ~ -q "ffi Ijffffi % :
(A) 'E1I1$:O'II'!HI

(8) 3iT~1~2lR41

(C) #f'Rel

(0) ~~
Algae which is used in space research is :
(A) ~pirogyra
(8) Oscillatoria
(C) Chlorella
(D) Ulothrix

3. ~3lf GJU~ ~ it 3p;f -q a1ljCiF.<ICfl~ ~1'1Hlfhl Cfftljffffi %, ~"CflW\' ~.:

(A) ~t4Fflqol

(8) QRS6J401

(C) (C\4HHOI

(0) Cki~~"*l
When genetic material is transferred from one bacteria to another with the help of
viruses it is called :
(A) Transplantation
(8) Transduction
(C) Transformation
(D) Transference

A-Set ..·~~8-a5



4. "&m" -qffiaroT CfiT lFf ~ t- :
(A) ll:;::jjr~l1 cnT flFsi1;Q(1r q;1 ~
(B) ll:;::jj1~11 3fu: ~~ ~ q;1 f;lfQ});Q CfiBT

(C) ~~ CfiT flFsi1;Q('11 q;1 ~

(D) ~ ~ q;1 01IRGC ~

What is the main aim. in food preservation?
(A) To increase the activity of enzyme
(B) To deactivate the micro-organisms and enzymes'
(C) To increase the activity of micro-organisms
(D) To improve the taste of fooQ products

I 1

~
(A) (B~ K(5)C(5) A(5)G'Zl

(B) !31 ~ K(5P(5)A(5)G{2j

(C) !31 ~ K4-SC4-SASG\21

(D) E!7 ~ K(5)C:A1OG(2)

What is floral formula of Solanaceae?

(A) E!7 ~ K(sP:'A(5)G(Z)

(B) !31 ~ K(5)C(s)A(5)GC2J

(C) !31 ~ K4_5C4_5A5G{2j

6. ~ if 411111121 WI ~ ID"U mm t- ?
(A) ~
(B) ~
(C) 41~cpl'{1I\l"111

(D) -qft cfi ~
Human Minamata disease is due to :
(A) Virus
(B) Bacteria
(C) Mycoplasma
(D) Salts of mercury

< ';!A.•..Set



7. ~~Cfi1WSf)11%:

(A) ~ ~ 7pJf ~ q-rf ~ ~ ~ ern ~ ~
(8) q-rf ~ ~ ~ 7pJf ~ ~ ~ ern ~ ~
(C) ~'1WT ~ q-rf ~ ~ ~ 7pJf ~ ern ~ ~
(D) ~'1WT ~ q-rf ~ 7pJf ~ ~ ~ ern ~ ~
The right order of arrangement in a systematic framework of classification is :
(A) Phylum ~ order ~plass ~ family ~ genus ~ species
(8) Class ~ phylum ~ order ~ family ~ genus ~ species
(C) Division ~ class ~ family ~ order ~ genus -) species
(D) Division ~ class ~ order ~ family ~ genus ~ species

8. 41$ChI«?1I\J"41%gW Cfl~ % :
(A) 41$ChI'"<1I\J"4IlJ'1ll ~ mit ~ q~ qf-if~f<"H ~ :;rfu fi<iC:1~[)t1 ~ mit
(8) 41$Chl'"<1I\J"4IlJ'1ll ~ mit ~ q~ ~QII1I$f*i1 CR11~Phlf1ChIt1 ~ :;rfu fi<iC:1~nt1 mit ~
(C) 41$ChI'"<1I\J"4IlJ'1ll 5/iOlk4Ch mit ~ q~ 2~1~1$CR11'1 CR11~Phlf1ChIt1 ~ >ffu fi<iC:1~nt1 mit ~
(D) ~ ~ ~ ~ Cfl~ W ~ %
The correct statement for Mycoplasma is :

(A) Mycoplasma is gram +ve and is not sensitive to penicillin

(8) Mycoplasma is gram +ve and is sensitive to streptomycin, chloramphenicol
(C) Mycoplasma is gram -ve and is sensitive to tetra.cycline and chloramphenicol
(D) None of these statements is true

9. q,ffCh{OI %g ~ ~ ~ ~ ~"0a;ruTIcnT 1Wf: 3TT'tTR~ %,cp:ff ?
(A) ~;WiT C1ft TIffiT -q ~ Wr 31f~ ~ mit ~
(8) ~ cnT ~ ~ -wfa.m Cfl{~. ~

(C) ~ -q ~'I:T >iCfiR~ illmit ~
(D) ~~~~

Floral characteristics of plants are generally considered as base for classification,
reason being:

(A) reproductive parts are more stable as compared to veqetativeparts
.(8) flowers can be easily saved
(C) flowers have various colours
(D) none of these

A-Set ,.PVET/1~page-9
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10. TMV CfiT 3iljcif.tICfl ~~ cp:n t ?
(A) ds DNA
(8) ds RNA
(C) ss DNA
(D) ss RNA
What is inherited material in TMV ? .
(A) ds DNA
(8) ds RNA
(C) ss DNA
(0) ss RNA

11. ~ Cfi12111?n DDTCfi11lATif~fcp:l~ ·04 ppm tm"3Bif"3TRcn-0~, ~~~~
crrfr ~ if ~ ~ CfiT mm~ ~ WrIT ?

(A) ~>~<~

(8) ~>~>~
(C) .~<~<~

(D) ~<~>~ \

What would be the order of magnification in algae, fish and fish eating man if the
algae is growing in water containing concentration of '04 ppmof pesticide DOT?
(A) Algae> Fish < Man
(8) Algae> Fish> Man
(C) Algae < Fish < Man
(D) Algae < Fish> Man

12. ~ ~ >IliR ~ Cfi1~-~ Cfl(((1ldl t :
(A) ~
(8) ShltfllOi14B

(C) qfcCflil?lCfl

(D) (1/$yISiI2.11

The sub-units of the protein coat of virus is called :'
(A) Capsid
(8) Chromomeres
(C) Capsomeres
(0) Lipoprotein

PV~/1 ~ ..··.·age-10·'
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13. ~ ~ ~ ~ ~ j)Cfifll'1~llfCfi cp:rr mrrr ?
(A) mm -qft:p:fl qff amr ~
(8) mm ~ali qff amr ~
(C) ~ -qft:p:fl qff amr ~
(0) ~~qft amr~
Which would do maximum harm to a tree?
(A) Loss of half of its leaves
(8) Loss of half of its branches
(C) Loss of all its leaves
(0) Loss of all its bark

14. >I'CfiWTfil<<16101 ~ WT'ql'f~ 1ffifmnrCfim ~ ft:m:.m 't ?
(A) 50
(8) 3
(C) 10
(0) 1

The percentage of light energy fixed in photosynthesis is generally around?
(A) 50
(8) G
(C) 10
(0) 1

15. GJfc::l1C{ ~ ~ -qrilcnl"f~~~fC1Cfi~ -B aq:qln:d fcl;lrr ~ m ~~-qlm ~ ~~ ~ ~ I "0
>T~-qrmcnl"GJfc::~~-qril-BSfifu (~) Cfi{qllfl ~mF1 ~~ lhl"ll2:1$q ~mrrr:
(A) ~~~
(8) 15%~
(C) 75% ~ (J~ 25% ~
(0) ~~~
When the dwarf plants of pea are treated with gibberellic acid they became tall. These
affected plants ittreated with pure tall plant~.6li;lenwhat will be the phenotype of F1
plants? .
(A) All short
(8) 15% short
(C) 75% tall and 25% short
(0) All tall

A-Set PVET/1*-page-11
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16. If'{~R41 if ~aTI Cfi1 ~ mm % en q<fl Gf1ffi % ?
(A) ~-~~
(8) ~m;:fT
(C) \>l'121111Ol1

(0) -gm;:fT
What is formed when the spores of Funaria qerrninates ?
(A) sporophyte
(8) archegonia
(C) protonema
(0) anthredium

17. ~1$(Y\CflI$~'8 c8 Cf)l~ICflI it f1CflI<1Cfl{ 1tCfi ~tR l1f'1:Zf11 if ~C02 am H20 ~ m, -n§IT "ITffi

% I 31'R ~ >PirT c8 ~ if 3FfTCRUT cn-G 11{ ~ ~ 3lRrq ~ ct ~ ifm ~ % en
~ ~ Cfi1\UT q<fl m ~ % ?
(A) "Cf)1$f qRql'q"1 mm ~
(8) CfUTcn(P700 am P680) ¥.m %
(C) ~Cfi1";f~

(0) ~ ~ ~ qfffi <t?r cnr:t m CR WI m
The thylakoids are removed from cell and kept in a.culture medium containing CO2
and H20. If the set up is exposed to light, hexose sugars are not formed as the end
product. The most appropriate reason for this will be that:
(A) carbon assimilation cannot take place
(8) the pigments (P700 and P68o) are not linked
(C) enzymes are not available
(0) the light trapping device is non-functional

18. ~ <89f111OlCflCfiRCf) \l1T ~ -miR "CflT ~ mm % am ~ 4:!CR.1Cfl ~ Cfi1 31'qfCf mm % :
(A) fcrft:~
(8) $'"C{cB(H

(C) ~

(0) ~
The infectious agent made of only protein and which does not have any nucleic acid
is called:
(A) viriods
(8) interferon
(C) virus

,~i JO) prions
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19. ~ (f~ CR:1l ~ '"tU*xj'l<1 cn1. 311ieiF.? 1Cfll 1R CfiT<f ~ ~ 1'Cfr;f ~ cn1 'W§]l CfiTfcrcnmfcfi<:rr,
-~~~:
(A) 311iei F.?1';1')3lf~4 If.." Cfl1
(B) ~ <R"1I4RCf) ~lieiF.?ICfll
(C) ~ llhi'lrlCfll
(D) g~4lii)'1I(1T\31l . -

Beadle and Tatum worked on genetics of Neurospora which resulted in the
development of a new science called :
(A) Genetic engineering
(B) Biochemical genetics
(C) Biotechnology
(D) Dendrochronology

20. IAA CfiT~ 1r:r % :
(A) ~ Q:Blfc:Cf) ~

(B) ~ Qf&Etf~Cf) ~
(C) ~ QfChlf4Cf) ~

(D) ~-B~~
The expanded name of IAA is :
(A) Indole Acetic Acid
(B) Indole Abscisic Acid
(C) Indole Ascorbic Acid
(D) None of these

21. ~1:Jlil~ 400 q<ljlCf)On~~~ft;:rQ:~ ~fcf~m-rt ?
(A) 200
(B) 400
(C) 100
(D) 480
For.400 pollen grains to be formed in a plant how many meiotic divisions will take
place?
(A)' 200
(B) 400
(C) 100
(D) 480
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22. BmGCfl'1 cp:ff men % ?
(A) ~~~aW)Jl~~~-wwrii
(8) ~ ~ ~ aW f~dlllCfl ~ cfi -wwrii
(C) ~ ~ ~ cfi ·wrs • ii-wwr cn8 ii
(D) ~ ~ ~ cfi wrs • ii-wwr cn8 ii
In triple fusion:
(A) A male gamete fuses with primary nucleus
(8) Second male gamete fuses with secondary nucleus
(C) A male gamete fuses with the egg cell
(D) Second male gamete fuses with egg cell

23. ~~~~(18JU1%?

(A) <1cikl '1

(8) \jj1$lilil '1
C ~ .,,'( ) Cfii2.1'1

A "'''(D)S'Z1i2.1'1

Synapsis is characteristic of :
(A) Leptotene
(8) Zygotene
(C) Pachytene

(D) Diplotene

24. trm~~~-q(§lW~CfiT~~~%?

(A) 'eiffi-~-~-w:f-~

(8) 'eiffi-~-~-~-~

(C) 'eiffi-~~~-w:f-~

(D) ~-'eiffi-~-w:f-~

In a grassland ecosystem what is best arrangement of foodchaln ?
(A) grass-frog--grasshopper-snake-owl
(8) grass-snake-frog-grasshopper-owl
(C) grass-grasshopper-frog-snake-owl
(D) grasshopper-grass-frog-snake-owl

pvet11~ge-14 A-Set
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25. ~1~;()l'II~:U if m:rrGT mBPl:rcfiR cnT ~ % :
(A) cflf.wr ~
(B) ~~m~
(C) ~~m~
(0) ftlqHCI~ ~

More common type of conjugation in Spirogyra is :
(A) terminal

(B) indirect lateral
(C) direct lateral
(0) scalariform

26. -mClI'1fClCh ~ ~ ~ ~'lffiWT % :
(A) ~ CfiT

(B) ~ CfiT

(C) Tt-{CfiT

(0) ~CfiT

Bacterial leaf blight is a serious disease of :

(A) . Barley
(B) Paddy
(C) Wheat
(0) Maize

27. ~ "!l~ ~"l"f<ft :

(A) ~~~if
(B) fl4~f~f<1f1 ~ if
(C) ~ flC:I~Clq ~

(0) -s"'if<1Cf>lfI~ if
Incomplete dommance.isseenln :
(A) Helianthus Annuus

(B) Mirabilis jalapa
(C) Pisumsativum
(0) Dolichos lab lab

A-Set PVETI14-p~ge:.15
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28. ~ ~ cfi~ ~ cfi~ 'lffi CfiT ~ <tm Wn ?-
(A) Qilw~
(8) Qilwmm
(C) Cfj.qJ"3C'V am Cfj.qJ- Cfj.qJ mm
(D) ~.qJ W'lfCf %
In a pond ecosystem the pyramid of biomass is :
(A) always inverted

(8) always upright
(C) sometimes inverted sometimes upright
(D) anything is possible

29. C1WF"ti{OI m -rFt if ~ ~ \5'fT ~ %, ~ :
(A) TFl cfi -rfri1 ~ ~
(8) ~~~~t
(C) ~~cfi~W-m%
(D) fcFiBT~ cit ~ CfiT "!ffiro~~ Cfil: 11RT

Girdling (ringing) experiment cannot be performed in sugarcane because:
" ,'-

(A) sugarcane plants are too delicate
(8) vascular bundles in it are scattered
(C) xylem in it is situated internal to phloem

(D) it cannot withstand injury

30. ~ cit ~ if cp:rr men % ?
(A) fuRR cfi fiRT DNA

(8) DNA <:fT fuRR
(C) DNA am fuRR
(D) ";f DNA am ";f fu$
The bacterial DNA contains:
(A) DNA without Hisfone
(8) DNA or Histone
(C) DNA and Histone
(D) Neither DNA nor Histone

PVET1~4:--7pag~16 A-Set



31. 31lR 31111'041;41 "tf'rmcfi"~ Cfft~~ 12%cTI"tf'r~cfi"~ afR··~cfi"~Cfft~
cp:rrwrr?
(A) 12,12
(8) 12,12
(C) 24,12
(D) 24,36

If the haploid number of chromosomes in gymnosperms is 12, what will be the number
of chromosomes in its root and endosperm?
(A) 12,12
(8) 12,12
(C) 24,12
(D) 24,36

32. 'Fi~itlll~ Cfft~ ~ qitfi)q Gffi Cfft~ cp:rr% ?
(A) ~ Cf;'ill{ ~ 16
(8) ~~~ 16"
(C) ~ Cf;'ill{ ~ 32

(D) ~~~32
Number of peristome teeth in the capsule of Funariais :
(A) 16 in one row
(8) 16 in two rows
(C) 32 in one row

(D) 32 in two rows

33. ~~~~CfiT~~"tf'rm1Rmmm%I~~~.:
(A) ~~
(8) ~ 1:f)Wf

(C) ~~

(O)·~~~m
In some mangroves germination of seed takes place in~id~thefruit while it is still
attached to the parent plant. This is called :
(A) mangrove germination
(8) parthenocarpy
(C) vivipary

(D) none of these
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34. ~ ~ CfiT3:p:f-;wr % :
(A) ~('11:s4

(8) ~('11~1

(C) ~

(D) ~

Cork tissue is also known as :
(A) Phelloderm
(8) Phellogen

(C) Phellem

(D) Periderm

35. CfiIr.Wfll ~ of; S ~ -q fi~@ttSlol mar % :
(A) m-RNA CfiT

(8) (-RNA CfiT

(C) DNA CfiT

(D) ATPCfiT

In the cell cycle what is synthesised in the S phase: '
(A) m-RNA
(8) (-RNA

(C) DNA
(D) ATP

36. ~<lnfq~ ~ CfiT ~ 31<%1<fChftthTm of; ~ ~ ?
(A) mBR
(8) am CfiI•••~y8f.:c:q
(C) 3i1j)cj~ICfi-m

(D) ~Pillt1I\l11
For what finding did Har'GovindKhu'ranaget Nobel'Prize ?
(A) Hormone .
(8) Oral-contraceptive
(C) Genetic code
(D) Immunology
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3h, ..~ Cfllf}(ICflICfft ~ ~ if ~"tJR ~ ~ '?
(A) OPcnr
(8) TP cnr

(C) DPD cnr

(D) WP cnr

What will show the value zero in a turgid cell ?
(A) OP
(8) TP
(C) DPD
(D) WP

38. .fcfm ~ if ~"tlF~Hcn1 ~ fcfi<:rr-rr:rr ?
(A) ~.~
(8) CK1T~lf64,"",

(C) <1~\lllf(l;j4,"",

(D) fSCZ'1ICflT%~

In which bacteria is insulin cloned ?
(A) E. coli

(8) Clostridium
(C) Rhizobium
(D) Diplococcus

39. Aa88 x aa88 ~ "Sfi'fB ~ fcfm ~ cnr3lj'mf ~ •.•~ ?
(A) 1 AAbb x 1 aaB8

(8) 1 Aa88 x 1 aa88
(C) 1 Aabb x 2 Aa8b

(D) 3 Aa88 x 1 aa88

What will the ratio of off~Jl!'ings in across AaBBxaaBB~-1
(A) 1 AAbb x 1 aa88
(8) 1 Aa88 x 1 aa88
(C) 1 Aabb x 2 Aa8b
(D) 3 Aa88 x 1 aa88
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40. 3llR ~ m CfiT cti'1~I<:c cf<"il"J~:g ~ if ~ ~ ~ tiW!:~ 1:f"fft ctft-mm 1R ~ ~

fcRvr:r "Cfi\ ~ m ~ ~ ~ :
(A) ~if~Will%

(8) -:fffiif ~ Will %

(C) ~Will%

(0) ~ if -q'1ffi Will %

If filter paper dipped in cobalt chloride solution is dried and then clipped on to leaf

surface then after sometime it will :

(A) turn blue from pink

(8) turn pink from blue

(C) remain green

(0) turn yellow from green

41. \lR1 CfiT S1CfjI~nll ~ fcnB ~ if Will% ?

(A) ~ ~ q:;ffCfil;fl<?l~11

(8) ~ Cf')'fM(l<?l~I"1

(C) ~-~ TTsf)

(0) t€r-~ TTsf)

In which process does photolysis of water take place?

(A) non-cyclic photophosphorylation

(B) cyclic photophosphorylation

(C) Calvin-Benson cycle

(0) Hatch-Slack cycle
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42. ~ CWf -B ~ ~, 3=lOSI~I'"1"3j~, ~ ~l\llIOs;:;qlfl TT.:cnT"l1flft"\l1TIfT% ?
(A) 41(1~ffl
(B) 8) qf~;fifil
(C) Sfi",ffl~(l
(0) *ii8~ffl
Which family shows unicarpellary, superior ovary, marginal placentation?
(A) Malvaceae

(B) Leguminosae

(C) Cruciferae

(0) Solanaceae

43. ~ -B fctGJ4\ll!f<16flCiIcnT ~ ~cnT ?
(A) fu-~~
(B) ~cfi«11 ~
(C) QI<=<!lCfllcfl~
(0) 8s{iS'Pl-Q.CiGRA ~

Who discovered heterothallism in Mucor?
(A) Oe Bary

(B) Blakeslee

(C) Pontecarvo

(0) Lederberg and Tatum

44. f.F1-B it ~ CfiCICfl ~ ~ m~ it ~ ~ ~% :
(A) ~

(B) ~
(C) 3=l1<:2{~R'"11

(O){I~;sjIQB

Of the foHowingwhich fungi will not grow in-culture medium?
(A) Yeast

(B) Albugo
(C) Alternaria
(0) Rhizopus
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45. 311"F1"'l1;si) cfrm if ~ ~ W-fiR Cfi1 it!lIJi!O's % :
(A) tJ>11?l4fl

(8) tJ>fa:n?l4fl

(C) aTI~
(D) flHn11?l4fl

The most common type of ovule in angiosperms is :

(A) Anatropous

(8) Amphitropous

(C) Orthotropous
(D) Circinotropous

46. ffl<?lf~~<11 Cfil ~~ if -mcrr ch)~ICfllaTI Cfil ~ men % :
(A) 4

(8) 6

(C) 8

(0) 12
The number of neck cells in the archegonia of Selaginella is :

(A) 4

(8) 6

(C) 8

(0) 12

47. fG~Cfl{OI Sfifu Cfil F 2 ftqft if GT1T Wl'9)lG;Jjl )l"~ Tfl·CfiT "flT-~ 31TTffi WIT % :
(A) 4/16

(8) 3/16

(C) 1/16

(0) 9/16

In a dihybrid cross the possible ratio of homozygoLlsdominant character:
(A) 4/16

(8) 3/16

(C) 1/16

(0) 9/16
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48. ~ if q;~-q;~ ~ <IT~ lIDIT if troT t~ ~ ~"B-tf)-~. ~ 3iCl~nf6ld 1@ Cf){ ~ I
~~~:

(A) ~~
(8) ifilPfCfll ~

(C) ~1~>{1~*il .

(0) ~
Sometimes there is enough water in the soil but for some reason plants are unable to
absorb it. This is called :

. ,
(A) Physical dryness
(8) Physiological dryness
(C) Hydrochasy
(0) Xerophytic

49. 'qffif if ~ ~~ ~ it{~ \lfffiT ~ ?
(A) f~rGCf1'"1~

(8) r~rGCf1'"1 <S41~f2:Cf1'"1

(C) f~rGCf1'"1 ~Cf1I%'"1

(0) r~fGCf1'"1~ ;-

Which species of wheat is grown most in India?
(A) Triticum durum
(8) Triticum boeticum
(C.) Triticum dicoccum

!},,\,

(0) Triticum vulgare

50. wnr~ fcfifr Cf1C1Cf1'1I~nq;1~' ~ m ?
(A) 2,4-0
(8) alifcR:R

(C) OOT
(0) ~<@;CR"I f4OJCR"I'€J<

Which-.is th.eJir§tf4I)9.~l<WAiscQver~d ?
(A) 2,4-0
(8) Auxin
(C) DOT
(D) Bordeux mixture
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51. si'r~ Rlj'r2::8 en) ~ ~ it fi f"t f<.1(1fcn7.:rr \ifffiT %?
(A) ~
(8) ~
(C) ~

(0) ~

Prokaryotes are included in the kingdom:
(A) Monera
(8) Fungi

(C) Protista

(0) Plantae

52. t;llOi')j01f~1 % :
(A) ~qofq;

(8) ~ qofq; C!ilif ~ ~ it
(C) fCicifli1

(0) ~ ~ crIffi "!i8R
Haemoglobin is :

(A) Skin pigment

(8) Respiratory pigment of insects
(C) Vitamin

(0) Quaternary Protein

53. ~ ~ en) ~ it fi~14Cf) % :
(A) fClcif'"l1 812
(8) fClcif'"l1 K
(C) fClcif'"l1 K q Ca++ ~

(0) FClcif'"l1 A

Who helps to prevent bleeding?
(A) Vitamin 812
(8) Vitamin K
(C) Vitamin K and Ca ++ ion

(0) Vitamin A
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54. ~ qft G1cm -aRt mm ~ :
(A) 4141Cflift;q4 "B
(8). QyilCflifg;q4 "B
(C) l{41Cfllfg;Q4 "B
(0) ~'l# "B
Heart wall is made up of :

(A) Myocardium

(8) Endocardium

(C) Epicardium

(0) All of these

55. ~ qft lJ&f fSfl;QI,4Cfi ~ ~ :

(A) ~
(8) ~

(C) ~CfiT~

(0) rnif4Ol:S

The main functional unit of Kidney is: ' 1,l.f

(A) Kidney

(8) Nephron

(C) Loop of Henle

(0) Pyramid

56. mcfi ~ CfiT"CfiI7t~ :

(A) ~ CfiT"B1:8.1IJT

(8) 1i'fCfiTlWf

(C) 1i'f CfiTf.l+:ITuT
(0) ~ 'Cf)l f1;p;J ~ 1

The function of Loop of Henle is :
(A) Conservation of water

(8) Urine passage
(C) Formation of Urine

(0) 8100d filtration



57. ~ if ~ ~ CfiT f.J11fur fcwml mar ~ ?
(A) miR
(B) Fmf'"lf.s41
(C) ~
(D) J<1.cfi)\lI

Which of the following forms uric acid in Human beings.?
(A) Protein

(8) Pyramidines

(C) Purines

(D) Glucose

58. f.p::;J if ~ ~ 3w;R ~ ~ cfi ~ 3ilqlp.l'5fi ~ ?
(A) ~f.slf'"l
(8) 41~wllf4
(C) ~f~lf4
(0) cMI(l~g

Which one of the following ions is essential for muscle contraction ?
(A) Sodium
(8) Potassium

(C) Calcium

(D) Chloride

59. fq'dI~llfCfft ~ ~ :
(A) flrnm:~
(8) ~~
(C) Ft'dI~I41crrfu;ft
(0) f1rn~
.The duct of Gall Bladder is called as :

(A) Ductus choledocus (Bile duct)

(8) Duct of Wirsung
(C) Cystic Duct
(D) Bile Canaliculi

A-Set
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60. ftl'41Ifcp~t1 ~ ~ 11J"m 'lffilT t ?

(A) ~~ljmit
(8) ~f1'44 ~ ljmit
(C) IIFdl?nt1 m~ it
(0) ~m~it
Where is present synovial fluid?

(A) Spinal cord cavity
(8) Cranium cavity
(C) Movable joints
(0) Immovable joints

61. ~"'IQTt1 ~'llTfCmCfirffi t :
(A) ~ ~ "'"il311~1IC:1

(8) 31j)4f«1tS<:fi

(C) ~

(0) ~
Alcohol affects :
(A) Medulla oblongata
(8) Cerebellum
(C) Thalamus

.,

(0) Spinal Cord

(A) ~ Cf)1~1Cf)1~

(8) "ffifm Cf)I ~ ICf)I ~

(C) ~ Cf)lf~ICf)1~

(0) ~'ft"m~

Testosterone hormone is produced by:
(A) Sertoli cell
(8) Leydig cell

(C) Liver cell
(0) All of these

r: )



63. llRCTmRCfiT~~ aizT, ~~~Uf\il'1~Cmm~:

(A) ~

(8) ~

(C) ~

(0) ~

The largest organ of human body, whose origin is scto-mesodermal :
(A) Skin
(8) Heart
(C) Liver
(0) Kidney

64. ~ CfiT tH4'i1~(11Cfim ~ t~ :
(A) 7:lQ mR CfiT ~ >rGR Cfi«IT ~

(8) 7:lQ mR CfiTW~ >rGR Cfi«IT ~

(C) 7:lQ aRcn ,:sq4\Jn 1lGT?lTCfiT~ Cfi«IT ~

(0) ~"B~ cfi CfiRUT

Skin is called as Jack of all trades, because:
(A) It provides a shape to the body
(8) It protects the body
(C) It secretes many useful substances
(0) All of these

65. ~~(C\qHHol~:

(A) *~CfiT

(8) ~ m?fll1 CfiT

(C) ;al~rw~'8~ CfiT

(0) 41~iiflrqq1~ CfiT

Mammaryglands are modified from:
(A) Sweat glands
(8) Cerumen glands
(C) Sebaceous glands
(0) Meibomian glands

•
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66. ~, w cr ~ (~) CfiT f.p:flunmrr %" :

(A) -miR-B
(8) cmT-B

(C) CfiI$f21 it
(0 ) ~ tj)ctl \J1 -B
Hair, feathers and claws are formed with:
(A) Proteins
(8) lipids
(C) Chitin
(0) Cellulose

67. ~~~mq~~~mm%";
(A) i):S,?{<113fl~1~21~

(8) $4Gf«i&".fl~

(C) f)(l~(1G if
(0) QWIT~. if
In mammals thermoregulatory centre is located in:
(A) Medulla oblongata
(8) Cerebrum
(C) Cerebellum

(0) Hypothalamus

68. ~~ cfi" ~ cfi" C1~ % :
(A) ~, f~<lil{~.m, fqbjG~.m

(8) ~, I'{Cfi<liI{G~l, fqbjGG.m

(C) ~, f~<liI{G~l, flGG.m

(0) ~, I'{Cfi<liRG.m,flGG~')

Characteristics of mammalian teeth are:
(A) Thecodont, diphyodont, heterodont
(8) Thecodont, monophyodont, heterodont
(C) Thecodont, diphyodont, homodont
(0) Thecodont, monophyodont, homodont
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69. crm if ~ fq21f'"l"fl ~ :

(A) ABCD

(B) ACDK
(C) ADEK
(D) ~-B~~
Fat soluble vitamiO$ are:
(A) ABCD

(8) ACDK

(C) ADEK

(D) None of these

70. f.r:;:r if -B Cfi'A fC!21fi:i1 '"Q;' CfiT~ ~ % ?

(A) ~
(8) aTIcrffi
(C) ~
(D) ~"B~

Which of the following is rich in Vitamin lA' ?
(A) Carrot

(8) Amla

(C) Apple

(D) All of these

71. c6Rm fq21f'l'1 ~ ~~ CflfOlCfll3lf~ qRqqq1 if ~~14Cfl mm t ?
(A) fq21f'l1'"Q;'

(B) fq21f'"l1'~'

(C) fq21f'l1 'm'
(D) Fq21f'"l1 'GIT12'
Vitamin which helps in the maturation of R~C :
(A) Vitamin A

(8) Vitamin K
(C) Vitamin C

(D) Vitamin B12
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72. ~ ~ cjffi ~ f.:r+TIur~ ~ ~ ~ Cfft 3ilq:P'lCfidl m- ?

(A) f7lR54'"l cr cfI~~I""'I'"l
(B) f7lF.s4'"l cr ~f08""'1'"l

(C) ~ cr ~f08""'1'"l
(D) ~f08~'"l cr CfiT~,(fI
Whichminerals are required for the formation of bones and teeth?
(A) Sodium and Potassium
(B) Sodium and Calcium
(C) Iron and Calcium
(D) Calcium and Phosphorous

73. w~mummt-?
(A) ~
(B) "Cfi"qcfj

(C) ~

(D) ~
AIDS is caused by:
(A) Virus
(B) Fungus
(C) Bacteria
(D) Helminth

74. ~ ~ ~ ~ fCfiflCfll ~ ~ t- ?
(A) ~~Cfft

(B) ~'klSlI""'l ~ Cfft
(C) <j)'klSlI""'l ~ Cfft
(D) fiCfill!l«1 ~ cr ~ Cfft
The Red Data Book contains a list of :
(A) Extinct plants
(B) Endangered animals
(C) Endangered plants
(D) Threatened plants and animals
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15. "3'~Tnnfu~~ ~ ~ mm ~ :
(A) J-~

(B) I-~
(C) R-~

(D) S-~

Growth curve of higher animals is : .
(A) J-shaped
(B) I -shaped
(C) - R-shaped
(D) S-shaped

16. 1os;ICI~r~ ~ ~ -qftrn ~a.ruIT~ 3l'/:Zflfi qft ~ t :
(A) qRCI",1 ~
(B) qlRf~RtCfll

(C) ~

(D) ~llcj~ICfll

The study of degenerative changes in ageing is called:
(A) Developmental Biology
(B) Ecology
(C) Gerontology

(D) Genetics

I
11. ~II ~- 31'fq;~" qft iffi§rr ~ :

(A) ~~
(B) ~~

(C) ~~
(D) ~~.

The book "Origin of Species=was written by:
(A) Darwin
(B) Lamarck
(C) Huxley

(D) Mendel

A~Sit
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78. 8-q;I~ICfllaTI"Cfl1 q:;:i)ci4'f:sl\J1~ ~ ~ ~ CfmI1t :
(A) fcfim-T-q;l~ICflI~

(8) ~- T-q;I~ICflI~

(C) Wm-T-q;I~ICflI~
(0) ~ q;1~ICflltt

8~cells are stimulated to produce antibodies by :
(A) Killer- T-cells
(8) Helper- T-cells
(C) Supressor- T-cells
(0) Plasma cells

79. 11~4fcR:914i"#~ CfiT ~ mm t ~ ~, ~qft 11~ mu :
(A) ~m2l, ~aft (~~l1aft)
(8) ~m2l,~

(C) ~m2l,~

(0) ~ m2l,~aft
Wax in honeybees is secreted by of bee:

(A) Pharyngeal gland, drone
(8) Abdominal glands, worker
(C) Pharyngeal glands, worker
(D) Abdominal glands, drone

80. ~"# q:shhn4 CfiT f.f11fur ~ mu mm t ?

(A) lIT0l11CflI4

(8) ~

(C) 41~ilCflTfO~41

(0) 3Rf:~ \JI1f<1CflI

Acrosome of sperm is .formed by :
(A) Golgibody
(8) Nucleus
(C) Mitochondria
(D) Endoplasmic reticulum
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81. "fr - ~ w:rr \Tffi'IT t" :
(A) ~ ~ 1~41\ll -B
(8) ~~~-B
(C) ~~~-B
(0) ~ ~ 4f«l&fi -B
Grey crescent is present in:
(A) Frog zygote
(8) Frog retina
(C) Frog eye
(0) Frog brain

82. flef51w~l m~crrf t" :
(A) A

(8) 0
(C) A8 +ve
(0) A8 -ve

Universal receptor blood group is:

f(A) A

(8) 0 I
(C) A8 +ve t

I
(0) A8 -ve ~

83. f.J1:;r -B"B~ WI fWr ~ t" ?

(A) (\llCfli\1dl

(8) quTf-~

(C) ll$(1lf<"lfl

(0) Qifc6"f11

Which one is a sex linked disease?

(A) Albinism

(8) Colourblindness
(C) Tylosis
(0) Parkinson

A.-Set 8-15
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84. ~ 3TI'44If'"5lChl if ~ ~ Cfl1 ~ ~ fu"Q: ~ q:;;jJI~lOOICfiT ~ fcn7;rr ~ % ?

(A) ~f~11 '"1fcR1i1\ll

(8) ~ qT(.•.i'I~\ll

(C) ~

(D) CflTM,(I~8\ll

In genetic engineering for cutting DNA segment, which of the enzymes is used?
(A) Restriction nuclease
(8) DNA polymerase ~
(C) Ligase
(D) Phosphorylase

85. 3lT~:p9T,~~~~~~if~-rrnm?
(A)~
(8) mm- ~fQ<!HiRl(;,g~~HR:ftl

(C) mm- ~fQt\"ft c6\rftr~tI

(D) mm- %~ri;'ttl

Orthognathus face developed for the first time in which human ancestor?

(A) Austra/opithecus
(8) Homo sapiens neandertha/ensis
(C) Homo sapiens fossilis
(D) Homo habilis

86. l1RCf~~~~%:

(A) Cfllff111lOO11

(8) f~ll:xfil G I

(C) ~~fi:141

(D) fil<ChIGI

Majority of human cancers are:
(A) Carcinoma •
(8) Lymphoma
(C) Leukemia
(D) Sarcoma
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8~ 1:fT'CR ~ it 'it. ~. 1l;; q .3m". ~. 1l;. q,l ~~ it ~ "CfiTqw;f ~ 'CfR9'({o:::Jfl$J"f~ :

(A) ;:g;fcR1lJ:*i

tal ~3flll$g*i

(0) ~a:ih:jl$g*i

(D) qf\ocg*i

During digestion D.N~A and R.N.A. are broken down first to nucleotides by enzymes
called as :
(A) Nucleases
(B) Nucleotidases
(C) Nucleosidases
(D) Peptidases

88. ~~q~'tRG16f~f.:t4;;;l10Iit~~?

(A) $""tlf(1'1
(B) Q~l~f(1'1
(C) ~~
(D) 20fe::(('1
Blood pressure and heart beat is regulated by :
(A) Insulin
(B) Adrenalin
(C) Growth hormone
(D) Testosterone

89. 28mCfi1 GHci"l4 ~o~I~I41 -:qSfi it I f,s'"41<:Wf ~ ~ % ?
(A) -:qSfi ~ 28~ ~

(B) 'qSfi ~ 14~ ~

(C) 'qSfi ~ 5~ ~

(D) 'qSfi ~ ~ ~

In 28 days ovarian cycle, ovulation takes place typically'on:
(A) 28th day of cycle
(B) 14th day of cycle
(C) 5th day of cycle

. (D) tst day of cycle
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90. ~~mm~:
(A) 000~~

(8) ~ 41~?l<:fiTfU~1I1 ~

(C) ~~~

(D) 000 ~ 3i~fif.9Cfl

Cardiac muscles are:

(A) Striated and Voluntary

(8) Containing less mitochondria

(C) Unstriated and Voluntary

(D) Striated and Involuntary

91. ~ ~ iTCfiT ~ ~ ~ if ~ fur:rr \iffiTI % ?

(A) f;sL2ilRlIl

(8) Cfilffi0

(C) 2111'h1$;S

(D) RT-m

Triple antigen Vaccine is not used for:

(A) Diphtheria

(8) Pertusis

(C) Typhoid

(0) Tetanus
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(A) m~#

(8) ~~~#
(C) ~ ~ f.wr;r #
(0) CflTCfli):qqft ~qlm(1 #
Papillary muscles are found in :
(A) Arm
(8) Auricles of heart
(C) Ventricles of heart
(D) Haemocoel of cockroach

93. Cfl:n~fcf)'4l # ~ ~ ~ % :
(A) ~#
(8) iRt#

(C) f'"l'dI~I£t #
(D) ~ qlf~f1'4l qft ~ #
Striated muscles in vertebrates are found in :
(A) Lungs
(8) Legs
(C) Gall bladder

(D) Wall of blood vessels

94. «Rmft£t1 "B ~ m~~ 1:ff!lT i3fRIT t ?

(A) ~ qft Q;Msf4f1 #
(8) ~qft~~"B

(C) ~qft~~#
(D) ~qft~#
Oil glands in mammals are found in :
(A) Epidermis of skin
(8) Mucous epithelium of stomach
(C) Mucous epithelium of skin

(D) Dermis of skin
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95. Q;ij<S4IS1'l1Cfi1 fumuT ~ :WT -q men t ?

(A) ~
(B) 2:!14<1~:S

(C) ~

(0) c:'fRwr
Which organ forms antibodies mainly?
(A) Liver
(B) Thyroid
(C) Kidney
(0) Tonsil

96. ~ Chl~ICflI Cfi1 fcr'ql\iRmen t :
(A) ~-~ fcr~ &m
(B) ~fcr~&m
(C) fl1Hi?ll4 fcr~ &m
(0) ~"it~.qr~
Neuron divided by :
(A) Meiosis
(B) Amitosis
(C) Mitosis
(0) None of these

97. ~~~:
(A) Gl ~CfiT

(B) Gl~CfiT
(C) -m- q ~ CfiT
(0) -m- q~ CfiT

Ligaments connect:
(A) Bone to bone
(B) Muscle to muscle
(C) Muscle to bone
(0) Muscle to cartilage
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~ Cfil~m=rr CfiT~ ~ :

(A) M111Oi1

\, (8) rfi:R:~f2CR"1
\ (C) \i11ClIf.<I4Cfll .

'(D) ~fcmR
1\1escience of study of diversity of organisms and their relationships is :
(A~ Taxonomy
(8) Systematics
(C) Palaeontology
(D) Biology

99. "mfUr ~ CfiT~" ~ ~ ?
(A) mfcR
(B) ~

(C) ~

(D) cfi{)<.1~

Who is "the father of Zoology"?
(A) Darwin
(8) Aristotle
(C) Mendel
(D) Carolus

100.~Cfil~~~'~'CfiTfcr:fim~~~ ?

(A) f~4Isfi'R~
(B) \5fR =t

(C) ~
(D) mfcR
Who developed the "key" for identification of animals?
(A) Theophrastus
(8) John Ray
(C) Mendel
(.D) Darwin
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1. 10-ti lft2 ~ CflfG ~ em: cn1 ~ em 0·1% ~ "tR~ ~ 1,000 ~ efil tATCf ~ ~ t I
em: qi- "tJGT2fC1iT 7.frr !'I('4I~dI ~ ~ :

(A) 1012~/lft2
8) 1011 ~/lft2
) 1010~/~

( 109~/~
An\ncrease of 0·1% in the length of a wire of cross-section 10-6m2 causes a tension
of 1XlOO N in the wire. The Young's modulus of the material of the wire is :
(A) \012N/m2

(8) 1~11N/m2
(C) 10\0 N/m2
(0) 10!1'N/m2.

102. w:r efil1f53 CFf'fCf :

(A) ~~m~~t
(8) ~ ~ m~tR:ffi t
(C) arq~m2l~t
(0) arq~ m2ltR:ffi t
Surface tension of a liquid:
(A) increases with area
(8) decreases with area
(C) increases with temperature
(0) decreases with temperature

(A) a>c>C
(8) a<C<c
(C) a>C>c
(0) a<c<C

If c, C and a represent the mean velocity, root mean square velocity and the most
probable velocity at a temperature T then:

(A) a> C >C

(8) a < C < C

(C) a> C > C

(0) a < C < C
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104. ClI«1fClCfi iRf ~ TR1~ "BllR ~ ~ % :
(A) f.r:;T ~ am f.r:;T "ffi11 'R
(8) ~ ~ am ~ "ffi11 'R
(C) f.r:;T ~ am ~"ffi11 'R
(0) ~ ~ am f.r:;T "ffi11 'R
Real gases behave like an ideal gas at:
(A) low pressure and low temperature
(8) high pressure and high temperature
(C) low pressure and high temperature
(0) high pressure and low temperature

105. fcfim fG:q<4I'1Cfi ih:r ~ ~ ~ CfiTW13WRR 'R 71lf ~ \j'fffif % am ~ "ffi11 -q 10° oAFC4IlIffctt
. ~m \Sffift % I ih:r CfiT~ ~ ~ mrrr :
(A) 5 R
(8) 10 R
(C) 15 R
(0) 25 R
One mole of a diatomic gas is heated at constant volume. Its temperature increases
by 10°C. The amount of heat added to the gas is :
(A) 5 R
(8) 10 R
(C) 15 R
(0) 25 R

106. ~ ~ "ffi11 CfiT ~ fcfi<:n \j'fffif % :
(A) ih:r dlqJiIcf) sm
(8) c8f2••1Ji ~m dlqJiIq') Gro
(C) ql~i141G{ sm
(0) crrsq ~ dlqJil41 Gro
The temperature of the sun is measured by:
(A) gas thermometer
(8) platinum resistance thermometer
(C) pyrometer
(0) vapour pressure thermometer
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-.
~ amm ~ CfiT~2,50 Hz <r\!lT 270 Hz ~ "$ ~ "$ -m~~: 8 <r\!lT 12 ~ ;,rfu
~ "3~FP~i«n%I ~Cfft ~% :

) 258 Hz
( 242 Hz
(C) 262 Hz
(0),282 Hz

\

A source of unknown frequency produces 8 and 12 beats per second respectively
with s<\urcesof frequencies 250 Hz and 270 Hz respectively. Frequency of the source
is: \-,
(A) 25S.Hz
(8) 242 Hz
(C) 262 Hz
(0) 282 Hz

108. 'B'llR 3Wrfl1 ~ 0ilCldCfll0 Cfft~ ~ 3lfCfd l""ffu ~ ~ m: 0k4C1Q,aWlflm.~ <r\!lT ~ ~ Cfl("JHH
7t
2 % I ~ mu QRolilil qsn ~ :
(A) ~~=t<m
(8) ~~
(C) ~ Q,(Cl04

(0) ~~
Two simple harmonic motions at right angle to each other with equal amplitude and

7t
time periods and having a phase difference of 2 are superposed. The resultant curve
will be :
(A) a straight line
(8) an ellipse
. (C) a parabola
(0) a circle

109. ~ ~ a1qClrdd'~Tffi %m f.rt:::f.q ~cp:rr1"@~ % ?
(A) ctbl~&4
(8) ~
(C) ~
(0) .3WW1

When light is refracted, which of the following does not change?
(A) Wavelength
(8) Frequency
(C) Velocity
(0) Amplitude

B-15
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110. Sl41I/}{/r<:1/if ~ ~.~ Cfft v:cn ~ cnld<JI~e4 6000 A~t ~'mt ~~ if m=rr ~ em
('fbl~uf ~ Cfft ~ ~ m ern- 6020 A a:miT ~ ( (Ri f.:n:;{ if 'B"~ W ~ ?
(A) am ~~ 'B" 105 m/'B" Cfft"'Cf'Rii ~ ~ ~ WI ~
(8) am ~~ Cfft 3W 105lft/~ Cfft"'Cf'Rii ~ -m~ ~
(C) -am ~p.cfrCfft 3W 106lft/'B" cnl "'Cf'Rii~ -m ~ ~
(0) am ~p.cfr'B" 106lft/'B" Cfft"'Cf'Rii 'B" ~ ~ WI' ~ i;

The wavelength of a particular spectrum line is 6000A in laboratory. The wavelength
of the same line is observed to be 6020 A in the spectrum of a star. Then whichof the
following is correct?
(A) The star is moving away from earth with a speed of 105m/s
(8) The star is moving towards earth with a speed of 105m/s
(C) The star is moving towards earth with a speed of1 (lBm/s .
(0) The star is moving away from earth with a speed of 106m/s

111. ~~, -m ~ ~ q;r ChI04f-iCh Sifctf<l'4kl~ 'B".~ <ifmlTt iWTT :

(A) ~
(8) ~
(C) ~
(0) ~
A mirror producing a virtual image larger than the object is :
(A) plane
(8) concave
(C) convex
(0) spherical

112. ~ q;r ~ 3iHiRCh 4,(ICld"l W ~ \ifT 'BCfiC'IT~ ~ ~ 7JlFI Cfi'(d1 ~ :

(A) -qr;ft 'B" ~ if
(8) CfiTq 'B" -qr;ft if
(C) CfiTq~ ~ if
(0) -qr;ft 'B" ~ if
It is not possible to observe total internal reflection when light travels from:
(A) water to glass
(8) glass to water
(C) glass to air
(0) water to air
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\
1~. ~q1~;m-cn;;ftq1~~~q;y~~?

~ ::~
;:

(o)\ ~-e~~
What type of the lens is an air bubble inside water?
(A) divergent
(8) convergent
(C) plane
(0) none of these

•

•

•

114. <i<G~fCflctft~ ~~'m~t:
A-

(A) 0

o
(8) A-

o
(C) 1'22'3:

A-
(0) 1·22 0

~lR~q;y~ 3l?ftl

The expression for the resolving power of a telescope is :

A-
(A) 0

o
(8) A-

o
(C) 1·22 A-

I..
(0) 1·22 0

Where symbols have their usual meaning.
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115. ~~iTz;r:
(A) ~c8~if~t
(8) ~ c8 fcfw=r if ~ %
(C) ~ c8 ~ CRill t
(D) ~ c8 ~ CRill %
Photo-electric cell :
(A) converts electricity into light
(8) converts light into electricity
(C) stores light
(0) stores electricity

116. V~ il ~ ~8~I;i'iil "3"f1V'4 "Q,Cro--~ Cfi1aTI~ ~ m-rrr :
eV

(A) h

he
(8) eV

h
(C) eV

(0) eV
The maximum frequency of X-rays generated from electrons accelerated by V volt is :

eV
(A) h

he
(8) eV

h
(C) eV

(0) eV

117. f.r::l if il ~Tcf) ~ armrr crrffi "Q,Cro-~ Cfi1(H>I~t4 ~ % ?
(A) 2 A

')' (8) 4 A
(C) 6 A
(0) 8 A
Which of the following wavelength of x-rays have the largest penetrating power?
(A) 2 A
(8) 4 A
(C) 6 A
(0) 8 A

8-15 A!.:.Sef

j



1't8. ~ ~f641QfcR:Cl 1:fGT?t ~ ~ ~ q;mr t f ern- mm- t :
(A) ~ "j!4Ch14 m-rr
(8) Q I~it \l11 -;:ffi'l1cFi

(C) ~~CfiUT

(D) (;1f<.1114-;:ffi'l1cFi

Alpha rays are emitted by a radio-active substance. They are:
(A) electromagnetic waves
(8) hydrogen nuclei
(C) negatively charged particles

. (D) helium nuclei

A-Set· PVET/14-pag~57 8-15

119. (ITCf ~ ~ fcfim 31Oif'i:lWICflCfi1 'i:l10Cfldf :

(A) 314UClFdd"®IT t
(8)~t
(C) ~t
(D) ~ m Pifi?'i:ld ~ t
With the rise of temperature, the conductivity of a semi-conductor:
(A) remairiSunchanged
(8) decreases
(C) increases
(0) nothing is certain

120. ~ ~ oirr R61CflRl 50 Hz ~ 1R ~:q1f0d tl ~ qft ~ ~ mrrr :
(A) 100 Hz
(8) 25 Hz
(C) 50 Hz
(0) 70 Hz
A full wave rectifier is operating from 50 Hz mains, the fundamental frequency in the
ripple will be :
(A) 100 Hz
(8) 25 Hz
(C) 50 Hz
(0) 70 Hz



121. 'ijkfCflll1 1I1a:fl'd{ (f1!U '4tJnf(9Cfl 1I1a:fl'd{ ~ ~ CfiTCfiTur Cfl~(1ldl t :
(A) 'ijkfCfllll-;:p:r;f

(8) 'ijkfCfll11 fC:Cfl"qld

(C) 'ijkfCfll11 ~

(0) 'ijkfCfll'4!$J qft ~
The angle between the magnetic meridian and geographic meridian is known as :
(A) magnetic dip
(8) magnetic declination
(C) magnetic moment
(0) magnetic field strength

122. ~ fq d "?I d i'"[<:fCflt12Cflllr 7]'it ~ CfiT~ CfiRVff.:r~ -.:rm qm:rr t :
(A) ~ CfiT ~ 11{

(8) ~~~~11{

(C) ~~ ~ 'ijkfCflI'4 !$J ~ ~ ~ 11{

(0) f1t1kf1 ciu CfiT ~ 11{

The time period of a freely suspended magnet does not depend upon the:
(A) length of the magnet
(8) moment of inertia of the magnet
(C) horizontal component of earth's magnetic field
(0) length of the suspension

123. ~ $t1Cf?T1qi1 ~ ~ $t1~T1 ~ 'Wfttr ~ ~ t m ~ cf?rCfiT ~ ~ :
(A) ~

(8) ~
(C) 3iqf{Clfdd Wrft
(0) ~m~
An electron is brought towards another electron. The. electric potential energy of the
system:
(A) decreases
(8) increases
(C) does not change
(0) becomes zero
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124. f.Ff -ij ~ ~ ~ CJTf ~ CfiT1im.Cfm'IT t ?
(A) ~~3lT<Wmu~~~
(8) ~ 3lT<Wmu ~ ~ ~cqq
(C) ~fu~mu~~~
(D) ~ ~ ~ -.:rm
Which of the folfowingobeys inverse square law?
(A) Electric field produced by a point charge
(8) Electric potential due to a point charge
(C) Electric field due to an electric dipole
(D) None of these

125. ~ ~ 3Rt ~ 1.itiAt ~~. wA CITffi~ mrr t" :
(A) .~ Cf)",fflM41

(8) ~~
(C) Gf.jf Cf)",fflfkf41 ~ -;ffi''qCfi

(D) ~ ~ ~ -.:rm
The force acting betweehtwo protons in a nucleus is :
(A) only Coulombian

(8) only Nuclear

(C) Coulombian and Nuclear both

(D) none of these

126. Wl fcJcqqmrn-~ mf.Ff -ij ~ ~ cn~ ~ -.:off t ?
(A) mrn-lR ~ ~ ~~ ~ ~ fcJ'qCfRR~ mrr t"
(8) ~ l$r qft ~ ~ mrn-cfi <114qC(mm t
(C) %m awm ~ ~ 1:R "Qf-fi ~ ~ ~ ~ acn ~ \lJR cfi ~ ~ cnp;f -.:rm ~ 11¥IT t
(D) WlfcJcqqmrn-~~mmt
Which of the following isoot true for an equipotential surface?

(A) The potential difference between any two points on the surface is zero

(8) The electric field is always perpendicular to the surface
(C) No work is done in moving the charge along the suface
(D) Equipotential surfaces are always spherical

II
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127. C mfurr~"fi~q;)V~fc{~~~~1R~'~mm~:

(A) CV
(8) CV2

1
(C) - CV2

2

V2
(D) 2C

The energy stored in a capacitor of capacity C charqed to a potential of V
volts is:

(A) CV
(8) CV2

1
(C) - CV2

2

(D) V2-
2C

128. 4J.lF,6J.lFatR 12J.lFtfft ~~o'R"fi~q;) (i) ~ ~~"B atRm (ii) ~~"B
~ \ifRfT ~ I ~ 1J!:i ~ ~ "B~ mrorraliGlIT 3TTfRJ Wn :

(A) 1: 11

(8) 11: 1

(C) 1: 1

(0) 1: 3

Three capacitances of 4J.lF,6J.lFand 12J.lFare connected (i) in series and then (ii) in

parallel. The ratio of equivalent capacitance in case (i) to that in case (ii) is :

(A) 1: 11

(8) 11: 1

(C) 1: 1

(D) 1: 3
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129. ~Wr Vdv:ci~ a);T E q1-~ f.p:;f -q."B~ -R~ aTrq q1-~ Cfi1 flffilq1 q;«ft % ?

(A) vdocE
1

(B) vd oc-
E

(C) VdocJE

(0) vd ocE2
For which of the following dependencies of drift velocity Vd on the electric field E is
Ohm's law true?

(A) vdocE

1
(B) vdoc-

E
(C) VdocJE

(0) vd ocE2

130. ~ -qftq~ q1-~ fcfifClICf) q1-f.Fn:r f.p:;f q1-ma.lUT"If{ 3lTmfur f :
(A) !%:&itJl1 v:ci ~
(B) ~v:ci~
(C) ~~~
(0) ~~'4t
Kirchhoff's laws for electrical circuits are based on the conservation of :
(A) mass and charge
(B) energy and charge
(C)· momentum and charge
(0) all of these

131. c8fC1'tJ >rft:rir~014 tJ 141 IDU (fTtP::lTtfl q;J 1f{ffi mar % :
(A) 10oK"B~

(8) -200°C ~1200°C <'fCP

(C) 6000°C"B ~
(0) ~"B~~
The range of temperatures that can be measured by platinum resistance thermometer is :
(A) Below 100K
(B) Between - 200°C to 1200°C
(C) Above 6000°C
(0) None of these

I I
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132. f.p:;r if ~ ~ ~ q;r ~1'fIRc.tl mwr'l:l ~ 3lf'l:Tcfi. mar·~ ?
(A) ~
(8) ~~oil'"il2O<
(C) c(k-'2O'"il20<

(0) fimT~
Which of the following instruments has the highest internal resistance?
(A) Ammeter
(8) Galvanometer
(C) Voltmeter
(0) Milliammeter

133. f.p:;r if ~ ~ Cf12R mv;r ~ ~ ?
'q(1 Cfj,0;s<'11 'I:lIWlltft (moving coil galvanometer) Cfft "l~lIf~al ~ t~ :

•(A) . Cfj,0;sc;;f) if ~ Cfft ~ ~;1 ~ .
(8) Cfj,0;S{11 q;r ~ ~ ~ ~
(C) Cfj,o;sc;;f) if I:l:Cfi ';f{11mcnr ~ B§f ~ ~

(0) Cfj,0;S{11 if mu ~;1 ~
Which of the following statements is not correct?
The sensitivity of a moving coil galvanometer increases when :
(A) The number ofturns in the coil increases
(8) Area of the coil is increased
(C) A soft iron cylinder is placed in the coil
(0) Current in the coil is increased

134.2 fCf1ctlql2O~"q:cfi ~ ~ 11<, ~ 7flf ~ 11<mu'l:l20 3Trqt fcr'ltCftmf mrrr :
(A) 200 V
(8) 20 V
(C) 100 V
(0) 220 V
The voltage drop across a 2 kilo-watt electric heater element, whose resistance when
hot is 20 ohms, is :
(A) 200 V
(8) 20 V
(C) 100 V
JD} 220 V
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(A) 21t J.loR

(8) J.loI
2R

(C) ~oIR

(0)
2J.loI
R

A....Set PVET/1~ 8-15

Magnetic field at the centre of a circular loop carrying a current I and of radius R is :

I
(A) 21t J.loR

(8) /loI
2R

(C) ~oIR

(0)
2/lo1
R

136. v:cn ~ QR1fclCf)1 ~ ~ '9)14Cf)llf P$r :
(A) ~mmt
(8) Q;Cf)tl¥Ol11mmt
(C) 3la:f ~ ~ CfiT am: \ifR ~ ~ t
(O) 3la:f ~ ~ CfiT am: \ifR ~ tR:m t
The magnetic field inside a long solenoid :

(A) is-zero

(8) is uniform

(C) increases from the axis towards the surface

(0) decreases from the axis towards the surface



137. fcfim L-R A j;lflllqffl 'I:ffiT~~ cn1j;I~Il~d1mm ~ :
(A) (R2 + co2L2r%

(8) (R2 + co2L2)%

(C) coUR

(0) ~

The admittance of an L-R series a.c. circuit is:

(A) (R2 + co2L2r%

(8) (R2+ co2L2f/2

(C) roUR

(0) zero

138. ~ ~ ~ aOOT m=q;;:r Cfi«IT ~ :

(A) fq,«cil~~ "1"4q;1~ ~ ~

(8) ~ fq,«d)~ ~

(C) ~ "1"4q;1~ ~

(0) ~ if %"m -m"5ICfiRCfi"T ~ ~

A moving electrical charge produces:

(A) electric as well as megnetic field

(8) electric field only

(C) magnetic field only

(0) neither of these fields
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(A) !:;&I'"I1'1

(8) ~

(C) ~

.(0) ~

Lenz's law is based on conservation of :

(A) mass

(8) charge

(C) energy

(0) momentum

roL
(A) R

(8) roLR

R
(C) roL

1
(D)

.roLR

The quality factor Q of a coil is :

roL
(A) -

R

(8) roLR

(C) R
roL .

1
(D) roLR

':<A~Set P·VETJ1~~5



141. ~~qftfcn:rrmen:%:
(A) ML-1,--1
(8) ML,--2

(C) ML2

(D) ML,--1

Dimension of coefficient of viscosity is :
(A) ML-1,--1
(8) ML,--2

(C) ML2
(D) ML,--1

142. SlflIl~(lr ~ qft ~ men:t :
(A) ~-~
(8) ~/~2
(C) tfu<:R/~.
(D) ~-~
The unit of coefficient of elasticity is :
(A) Kg-meter2
(~) Newtonlmeter2
. (C) Radian/see

(D) Newton-meter'

143. fcfim 1J~ cfi 1l2T1l ~ ~ -q"{ ~ ~ ~ cfi ~ em q;)ur mm t :
(A) ~
(8) 450

(C) 90°
(D) 1800

The angle between the direction of velocity and acceleration at the highest point of a
projectile path is :
(A) zero
(8) 450

(C) 90°
(D) 1800
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144. ~ Cfi1JT H~+:ld'qffi ~. ~ <fff ~ "T1~ % I ~ Cfi1JT rt ~ Cfl1~1 n:
(A) "tIftf~Cfl1~ -q

(8) ~~Cfl1~-q

(C) ~ 3la:T Cfl1~ ~

(0) ~ Cfl1~ -q

A particle is moving along a circle with a constant speed. The direction of acceleration

of the particle is :

(A) along the circumference

(B) along the tangent

(C) along the axis of rotation

(0) along the radius

145. ~ ~ E cnffi ~ ifG CfiTf~ ~ 45° Cfi1 q;)ur ~ ~ ~ Cfl13lR ~ TT<n % I ~ a:r:Rt
~ rt~ 31f~ ~ "tRTfft:r\lf ~ WIT :

(A) ~

E
(B) 2

E(C) J2
(0) E

r~:r~~

A ball with kinetic energy E is thrown at an angle of 45° with the horizontal. Its kinetic

energy at the highest point of its flight will be :

(A) Zero

E
(B) . 2

E
(C) J2
(0) E

8-13



1
(A) -mgR

2
(8) 2mgR

(C) mgA
..

1(0) -mgR
4

14C ..7'.ff~1?Jit Cfft·~ 1R 'j'6&'/llf ~ q;J l1A 9 ~m m ~&jqH em ~ em "!~ em ~ 'B "!~ em
f;P<'lT A, ~ ~ ~ (fCI1 '@r ~ 1R ~ f~f(j\Jl ~it ~ irft :

If 9 is the acceleration due to gravity on earth's surface, the gain in potential energy of
an object of mass m raised from the surface of the earth to a height equal to the radius
R, of the earth is :

1
(A) -mgR

2

(8) 2mgR

(C) mgA

1(0) 4mgR

147. fcnffJ 1IJf;r Cfl& ~ fTro6 ct m~ ~ it ~ ~ ~~ ?

dL
\A) "C=-

dt

1
(8) "C=- 1002

2
(C) L == 1002

(0) 1 == rol,
~ 1R ~ ct "B'Jl1P13l~ % I

Which of the following relations is true for a rotating body?

dL(A) "C:::-

dt

1
(8) "C=- 1002

2
(C) L:::1002
(0) I::: rol,
Where symbols have their usual meanings.
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148. ~ fcJlm ~ CfiT ~ ~ 1l125% CfiT ~ CfiT ~ m ~ 00 1l~ WiT:
(A) 25%
(8) 50%
(C) 75%
(0) 125%
If the kinetic energy of a body is increased by 125%, then its momentum will increase
by:
(A) 25%
(8) 50%
(C) 75%
(0) 125%

149. "9;2ClT CfiT ~ -q"{ 9 CfiTl1R -qf{qffl ~ % I 7.lQ31f~ ~ % :
(A) ~~-q"{

(8) w-ff -q"{

(C) yq v:ci ~ ~. ~ 11~ 1l
(0) ~ ~ coW 1"@
The value of 9 varies on the surface of the earth. It is maximum at :
(A) equator
(8) poles
(C) somewhere between poles and equator
(0) none of these

150. "9;2ClT CfiT ~ ~ fcfim" ~ ~ m~ ~ ~ % :
(A) JgR
(8) 2/9R

(C) ~2gR

(0) ~J9R
2

The escape velocity for a body thrown from earth's surface is :

(A) JgR
(8) 2J9R

(C) ~2gR

(0) ~/9R
2

A..;.iSet PVETI14--;>age-&g B-1S



8-15 PVETI14-page-70 A-Set

tQ; CIlI'if cfi" ~.l$lR
SPACE FOR ROUGH WORK



I-- ......-..o...-..~_~~- ---

t
I
I
I



w$td~~~
SPACE FOR ROUGH WORK

8-15c> PVET/14-page-72 A-Set



r-----------------~---------------,
I I

, I I
I I
I I

· : (§f 0:$5-G: :
I I
I I
I I
I I
I I

! {flt~1~1If51 !
I I
I ,I
I I
I I
I I
I
I
I
I
I
I
I
I
I
I
I~ ~~~_~_~~ J

Section-D

(CHEMISTRY)

A-:::Set PVETI1~73

~.-----~---.---------

I
I



,f'::

1 .•

), J



151. f1lOO1f(1f~(j -ij "B ~ fsFi<:n f;p::;:r ~ ~ ~ ~ ?

(A) H2 + 12~ 2HI
(B) N2 + 3H2 ~ 2NH3
(C) PCI5 ~ PCI3 +CI2
(0) N2+02 ~ 2NO
Which of the following reactions will be favoured at low pressure?

(A) H2 + 12~ 2HI
(B) N2 + 3H2 ~ 2NH3
(C) PCI5 ~ PCI3 +CI2
(0) N2+02 ~ 2NO

152. 10-8 ~ HCI fcwr:R CfiT ~ -ij pH ~ :

(A) 8

(B) -8
(C) 7 <f?lT 8 ~ 11~

(0) 6 <f?lT 7 ~ 11~

The pH of 10-8 molar solution of HCI in water is :

(A) 8
(B) -8
(C) Between 7 and 8
(0) Between 6 and 7

153. ~ q;lg ~ f1?4ctiCfl q;)"&ICffi Cfi'0 cn1~ ~ :
(A) ~ m. "B.-1
(B) ~-1 m.-1 "B.-1

(C) ~ m.-1 "B.-1
(0) ~-1 m. "B.-1

The second order rate constant is usually expressed as :
-1(A) mole l. s.

-1 -1 -1(B) mole l. s.
-1 -1(C) mole 1. s.

-1 -1(0) mole l. s.

H!i
I

I,
I
I

I
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154. Q'"'llI$4,"\llT ~ cnT"Q~ ~ {C;QHHol cnT ~ Cfi«ll t % :
(A) ~

(8) ~
(C) ~

(D) SI<1R\J1

The enzyme which can catalyse the conversion of glucose to ethanol is :
(A) Zymase
(8) .Invertase

(C) Maltase
(D) Diastase

155. ~~%:
(A) ~.T ~ -qftf'8:l'Zf cmT

(8) 'lR1 ~ -qftf'8:l'Zf cmT

(C) cmT ~ -qftf'8:l'Zf 'lR1

(D) W1~ -qftf'8:l'Zf 'lR1

Milk is:

(A) Fat dispersed in milk

(8) Fat dispersed in water
(C) Water dispersed in fat

(D) Water dispersed in oil

156. 'lR1 q)f cllt>41Cfi{OI% :
(A) ~ ~ QRClct1

(8) 3la:1I~j)tStl QRClct1

(C) crQ~ ~ ~ q)f QRClct1 ~ mm
(D) crQ~ "\llT{1~I;qf1Cfi :m~ &m mm t
Evaporation of water is :
(A) An exothermic change

(8) An endothermic change

(C) A process where no heat changes occur
(D) A process accompanied by chemical reaction

8;'1'5 PvET/14-page-76 A-Set
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157. eu2+ ct 41If1l g("'llICbl en) Cu ~.-q 3"jq'CfflJd ~ ct ~ 3ilqli4Cfi ~ m-r WIT :
(A) 1
(8) 2

(e) 1/2

(0) 4

The number of'Far;cWay.'needed to reduce 4gram~quiva'ents eu2+ to eumetal will
be:

(A) 1

(8) 2

(e) 1/2

(0) 4

158. ~~~~~m:q%:
(A) AI

(8) Si
(e) p
(0) Mg

The element with maximum atomic radius is :
(A) AI

(8) Si
(e) p

(0) Mg

159. 3WWlT~~IDU~\5fT~%1 ~WIv:~cnmt:
(A) ea(OH)2
(8) csco,
(e) eaS04
(0) Hel

Temporary hardness may be removed from water by adding:

(A) ea(OH)2

(8) csco,
(e) eaS04
(0). Hel

\



160. ~~fcrf~~ ~.q~qft~t ?
(A) cf{"ihl~G~
(8) 3iTCR"II~G ~

(C) fl0hI~G ~

(0) 3it:i("PIt:i

Froth floatation process is used for the metallurqyotcnse S

(A) Chloride ores "",',
(8) Oxide ores
(C) Sulphide ores
(0) Amalgam

16t.~~t:

(A) Na2C03'10 H20

(8) CuS04'5 H20

(C) Na2S04'10H20

(0) FeS04,7 H20

Glauber's salt is :

(A) Na2C03'10 H20

(8) CuS04'5 H20

(C) Na2S04'10 H20

(0) FeS04'7 H20

162. Cf)IZf<:1I~c~ t :
(A) Ca 'CfiT

(8) Na 'CfiT '

(C) Mg 'CfiT

(0) Zn 'CfiT

Carnellite is a mineralof :
(A) Ca
(8) Na
(C) Mg
(0) Zn 'J)XCPr,',
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163. ~ (9CfOT CfiT 3GItl'!:01 t :
(A) ~~
(B) K4Fe(CN)6
(C) ~
(D) 'tfrcm f.:h2cf)(1

An example of double salt is :
(A) Bleaching powder
(B) K4Fe(CN)6
(C) Hypo
(D) Potash alum

164. ~~t:
(A) N-:n~ qft -am ~
(B) -am ~ ~anCfE'II~;s

(C). -am <filGA ~anCRiI~;s

(D) -am.~
The dry ice is :
(A) Solid ice without anywater
(8) Solid sulphur dioxide
(C) Solid carbon dioxide
(D) Solid benzene

165. ~ qft ~"tR ~ ~ \ifffiT t ?

(A) ~~
(8) N-:n~~
(C) ~fcti44 CR1t<I~;S

(D) 'hTMHi ~~TCRiI$;S
Ammonia is dried over:
(A) The slaked lime
(8) Quick lime
(C) Calcium Chloride
(D) Phosphorous pentaoxide

I
I
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166. f1klfMf@ct ~ctt'51'11it fCflflCfll ~8,*,?T1~ an~ mm % ?
(A) I
(8) GI
(G) F
(0) 8r
Which of the following halogens has the greatest electron affinity?
(A) I
(8) GI
(G) F
(0) 8r

167. AgN03~ m~~ 31Cf~ ~ % ?
(A) NaI

(8) KGI
(C) NaN03
(0) Na2Cr04
AgN03 gives red ppt. with:

(A) NaI

(8) KGI

(C) NaN03
(0) Na2Gr04

168. ~ fi CliT W'l-fCl ~ % :
(A) Fe3[Fe(GN)612
(8) Fe2[Fe(GN)6b

(G) Fe4[Fe(CN)6b

(0) Fe3[Fe(GN)614
. The most probable formula of prussian blue is :

(A) Fe3[Fe(GN)612
(8) Fe2[Fe(GN)6h

(G) Fe4[Fe(GN)6b

(0) Fe3[Fe(GN)614
~. ,.
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169. f1lO1r('1r~(1 if it ~ Fe(II) ~ cfi" m~~ ~ '1Ff ~ ~ Cfi«ff t" ?
(A) N20
(8) NO

(C) N203
(0) N204

Which of the following combine with Fe(II) ions to form a brown complex?
(A) N20

(8) NO

(C) N203

(0) N204

170. CH3CHO CfiT~. 'i 1ft. -0:. m. 1J11 t" :
(A) ~fll~F(":Si5l~:S

(8) itf2R'r ~F(":Si5l~:S

(C) "tfiffi:R1-q~

(0) -o:~
The I.U.P.A.C. name of CH3CHO is :

(A) Acetaldehyde

(8) Methyl aldehyde
(C) Formyl methane
(0) Ethanol

171. C4H100 cfi"m~ ~'h?T(1 ~ ft41C14C!1 t" :
(A) 4

(8) 2
(C) 3

(0) 5

The number of possible alcoholic structural isomers for C4H100 are:

(A) 4

(8) 2
(C) 3
(0) 5
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172. ~ AICI3 qft dqf~rn ~ CH3COCI "itR~ ~ t :
(A) CaH5CI

(B) CaH5COCI

(C) CaH5CH3

(0) CaH5COCH3

Benzene reacts with CH3COCI in the presence of Alel3 to give:

(A) CaH5CI

(B) CaHsCOCI

(C) CaHsCH3

(0) CaHsCOCH3

173. Xqft~~:

CH3 >C=O
CH3

(A) CH30H

(B) CH3CH2OH

(C) CH3CHOHCH3

(0) CH3COH(CH3)2

Identify X:

CH3 >C=O
CH3

(A) CH30H

(B) CH3CH2OH

(C) CH3CHOHCH3

(0) CH3~OH(CH3)2

8-15
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174. H'""1f(1f~ct ~ ~ 3ilq41Cfi{OI -en:cttiR ~ t- ?

(A) (CH3)3COH
(8) CH3CH2CH20H

(C) (CH3)2CHCH20H
(0) CH3CHOHCH3
Which of the followinq gives Ketone on oxidation ?
(A) (CH3)3COH
(8) CH3CH2CH20H

(C) (CH3)2CHCH20H
(0) CH3CHOHCH3

175. ~ ~ mill "CfiT~ I \llT Q~liH Cfft 3iI;s:{l:S11 a~ 8.lR ~ m?f aTI~ IDU ~ mm t- :
(A) CH3COCH21

(8) CH31
(C) CHI3
(0) ~~
The light yellow colour compound produced when acetone reacts with iodine and
alkali is:
(A) CH3COCH21

(8) CH31
(C) CHI3
(0) None of these

176. Q«llI41~;SPI'""1f(1f(§ftl~ ~ ~~-~~ aTI~ Cfi«fT t-I ~ ~ m lW~ -Q;:fR~ ?
(A) PCI5
(8) NaOH + 8r2
(C) ~~
(0) l'Jlf~ H

2
S0

4
Acetamide is treated separately with the following reagents. Which one of these would
give methyl amine?
(A) PCI5
(8) NaOH + 8r2
(C) Soda lime
(0) Hot cone. H2S04
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177. -Qf~~"tR~ ~cpl~mu~~"B~mcrrt:
(A) ~~
(8) "Qj'~ 11$?(I$c

(C) "Qj'~ Qffit\Tt1

(0) ~~
On action of nitrous acid on ethyl amine, the major product is:

(A) Ethane
(8) Ethyl nitrite
(C) Ethyl alcohol
(0)' Nitroethane

;

178. NaOH (f~ qm cpl31f~ Cfit\t1lti, t :
(A) Q;~f)Cf){ol

(8) fll'1;:flCf){OI

(C) ~
(0) i51$~\jf1 ~

Reaction of NaOH and fat is called :
(A) Esterification

(8) Saponification

(C) Fermentation

(0) Hydrogenation

179. l0311$4 t :
(A) >IliR
(8) ~

(C) ~
(0) CRfI<;r ~

Enzymes are:
(A) Protein

(8) Minerals

(C) Oil
(0) Fatty acids
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180. v:cn~: aTI~ ~ fu"Q: :
(A) dS 5liOIl(iiCfj ~.~

(8) dH - TdS 5li0!l,l4Cfj ~ ~

(C) dH + TdS 5li0!l,l4Cfj ~ ~

(0) dH 5liOIl,l4Cfj ~ ~

For a reaction to occur spontaneously:
(A) dS must be negative

(8) dH - TdS must be negative

(C) dH + TdS must be negative
(0) dH must be negative

181. ~~11f'qCfi-qmm%:
(A) jtiR Cf~ ~

(8) jtiR Cf~ ~~~H

(C) ~ Cf~ ~~~T1
(0) i\iR, ~ Cf~ ~~~11
The nucleus of the atom consists of :

(A) Proton and neutron

(8) Proton and, electron
(C) Neutron and electron
(0) Proton, neutron and electron

··pveT/1~g&-B5 8-15

182. ~ ~ ~ -q H-O-H q;lur"WT'qT[ mm% :
(A) 90°

(8) 180°

(C) 105°

(0) 75°
The H-O-H angle in water molecule is about:

(A) 90°

(8)180°
(C) 105°
(0) 75°
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183. ~~'R~Tl'B(ffi an~m'R, 10g(~) Cf2Tr log P~l1~mq;~~~-mm~

amft '%, ~ ~ ~ m-err % :

(A) k~

(8) log k~

(C) n <t

(0) 11n<t

For the adsorption of a gas on a solid, the plot of 10g,(,;) versus logp is linear with

slope equal to :

(A) k

(8) log k

(C) n
(0) 11n

184. m-q cn1 lfI1RT ~ ~ 'R ~ <1fI14fiCfi aTI~ ~ rev: !1y :: -5,2 ~.~ ~-1,

!1H:: 145·6 fcn.~ ~-1 Cf2Tr !1S ~ 216~~.-1 ~-1 %1

.(A) 1300° -B.

(8) 1300~.

(C) 130~.

(0) 130°-B.
-1 -1Calculate the temperature at which !1y :: -5,2 kJ mol ,!1H = 145·6 kJ mol and

-1 -1
!1S = 216 JK mol :

(A) 1300°C

(8) 1300 K

(C) 130 K

(0) 130°C
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185. ~~fi:r~ ~%:
(A) ~l ~ ficflCfft
(B) ~ ~ R;;r Cfft

. (C) ~~~Cfft
(0) ~ ~ Sfllfl:i44 Cfft
Brass in an alloy of :

(A) Copper and Zinc

(B) Copper and Tin

(C) Copper and Nickel

(0) Copper and ChrQrrtium

o
II

CH3 -C-NH2 P4
0
10 )CH3 -C=N

1l "Cfil'"iiR ~ ~ ~ 1l ~ CffiYIT qRCld1 % :
(A) Sp3 -B Sp2

(B) Sp3 -B sp

(C) Sp-BSp2

(0) Sp2"B sp

The change in hybridization of carbon atom in the dehydration of acetamide given by

the reaction :

o
II

CHa··+-rC.- NH2

is:

(A)
3 2sp to sp

(B) Sp3 to sp

(C)
2spto sp

(0) 2sp to sp

..A~·set···" "--;~rYETI1~page;:87
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187. fcfim~cf;~~~ 6 X 1021 ~"@t ?
(A) 0·01
(8) 0·1
(C) 0·5
(0) 1·0
How many mole of a gas will have, 6 x 1021 molecules?
(A) 0·01
(8) 0-1
(C) 0-5
(0) 1-0

188. 92U238 qft ~-3Wl4'5 x 109 cr;f ~I ~ Cfli1Tcf; ~ 92U238 qft ~ lIDrT 3lTm ~

~?
(A) 9 x 109 cr;f
(8) 13-5 x 109 cr;f
(C) 4-5 x 109 cr;f
(0) 4-5 x 104-5 cr;f
The half-life of 92U238 is 4·5 x 109 years, After how many years, the amount of 92U238

will be reduced to half of its present amount?
9(A) 9 x 10 years

9(8) 13-5 x 10 years
9(C) 4·5 x 10 years
4-5

(0) 4-5 x 10 years

189. ~<fi1iRqft dbl~e4 2-2 x 10-11111_ t h = 6-6 X 10-34 ~-~~~-q;)iRCfiTOOt-:

(A) 3 x 10-23 fcnm-/~
(8) 3·33 x 1022 fcnm.j~
(C) 1-452 x 10-44 fcnm-/~
(0) 6·89 x 1043fcfim./~

-11 -34
The wavelength of photon is 2-2 x 10m, h = 6·6 x 10 Js, then momentum of
photon is:
. ~23
(A) 3 x 10 kg/s
(8) 3·33 x 1022 kg/s
(C) 1-452 x 10-44 kg/s

(0) 6·89 x 1043kg/s
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190. 'iffit tl$4'l\jj'1 ~ ~ ~ Cfft ~ ~ :

(A) 0

(8) 1

(C) 2

(0) 3

Number of neutrons in heavy hydrogen atom is :

(A) 0

(8) 1

(C) 2

(D) 3

1 h
(A) +--'2 21t
(8) 0

h(C) 21t

(0) J2~21t
The orbital angular momentum of an electron in 25 orbital is :

1 h
(A) +--2 21t
(8) 0

h
(C) 21t

(0) J2~21t
.ArSet ,in, 'n=Tli~ ""'&6, 9,...•••••.•." .pag . .~ , ,
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192. 'iF*flllj ~ -B fCl:qfl1ct~ 'CfR'ft ~ t :
(A) ~a-~
(8) ~y-~
(C) a-~Cf~p-~

(0) 71T aT a-~ 71T p-~
The rays which are deflected in a magnetic field:
(A) Only a-rays
(8) Only y-rays

(C) a-rays and p-rays

(0) Either a-rays or p-rays

193. f1t:1Fl1f~ct-B'B ~ ~ ~aTI~ ~ t ?
(A) N-CI
(8) O-F

(C) C-F
(0) N-N
Which of the following bonds is the most polar?

(A) N-CI
(8) O-F
(C) C-F
(0) N-N

194. f.1t:1f~f~ct -B 'B ~ ~ am t ?
(A) HCI

(8) H30+
(C) NH3
(0) CH4
Which of the-;fOt16wingisa Lewis base ?
(A) HCI
(8) H30+
(C) NH3
(0) CH4

."""~':'.""'~""'" ,~,.•.•..".". "
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195. K2Cr207 ~ Cr Cfft 3ilCRilCfl'(ol ~ ~ :

(A) +6
(8) -7

(C) +2
(O) -2

The oxidation state of Cr in K2Cr207 is :

(A) +6
(8) -7

(C) +2
(0) -2

196. NaCI ~ II Na+ awR ~ -:qJU aTR fcf;cR cr .a:mAf?'
(A) 3

(8) 4

(C) 6
(0) 8
How many CI- ions are there around Na+ ionln NaCI crystal?

(A) 3

(8) 4

(C) 6

(O) 8

197. ~~\ilT~G'Tiifq40°C 11{~~~~:

(A) O1I$41\l101

(8) t:1$~\lI01

(C) 3ilem1\l101

(0) 3i4lR41

The gas which can be liquefied under high;pr&$$I!,II:~~n,(:h40~C!i$:':
(A) Nitrogen

(8) Hydrogen
(C) Oxygen
(0) Ammonia



198. f.,kjf(.1f~ct -it ~ fCflflCflI q,(lfI,(OI ~ ~ 31f~ % ?
(A) M/10 8aCI2
(8) M/10 <ffi<n
(C) M/10 HCI
(0) M/10 lttChI\ll

Which one has the highest osmotic pressure?
(A) M/10 8aCI2
(8) M/10 Urea
(C) M/10 HCI
(0) M/10 Glucose

j

I

199. mg; CR11,(I~scnT ~ MCI3 % I ~ 20% mg; % I mg; COTWf11U 'llR % :
(A) 27
(8) 56
(C) 127
(0) 48
The formula of a metal chloride is MCI3. It contains 20% of the metal. The atomic
weight of metal is :
(A) 27
(8) 56
(C) 127
(0) 48

200. 0.1 m fcR;rlr;r cfi 250 fl:rffi. ~ cfim NaOH cfi ~ m11 ctt 311q~'4Cfl(jJmrft ?
(A) 1lJTll

(8) 4lJTll

(C) 40 lJTll

(D) 10 lJTll

How many grams of NaOH will be required to prepare 250 ml of 0.1 rn solution?
(A) 1 g
(8) 4 g
(C) 40 g
(0) 10 g
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INSTRUCTIONS REGARDING METHOD
OF ANSWERING QUESTIONS

(Please use Black ball-point Pen)

1. Method of Marking Answers :

To answer a question, please darken one circle
out of the given four, in the OMR Answer Sheet
against that question.

2. Valuation Procedure:

There are four probable answers to a question,
on Iy one of them is correct. One mark will be
awarded for each correct answer. If more than
one circle are darkened for a question, it will
be presumed that the candidate does not know
the correct answer, hence, no mark shall be
awarded.

3. Cancellation or Change in Answer :

It will not be possible to change-the marked
circle with black ball-point pen; therefore,
correct answer should be carefully chosen
before marking it on OMR Answer Sheet.

4. Handing over of Answer Sheet to
Invigilator :

(i) Please ensure that-all entries in the answer
sheet are filled up properly i.e. Name, Roll
No., Signatures, Question Booklet No. etc.

(ii) CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINATION.

5. Care in Handling tlie Answer Sheet:

While using answer sheet adequate care should

be taken not to tear or spoil due to folds or .

wrinkles and the impression does not come

behind the Answer sheet.
.

~Black ball-point 'Q;:rCFinr~imcR)
1. -aiIT~ CJiT .ntTcf;r :

~~<t~OMR ~~~-q~"!m<t
w:A ~TTiT T.IR ti -q~ ~ ~ ~ CfiT ~ 'Cfm'IT
~I

2. '1<'4icti'1 ~ :

~"!m <tTffi "B~"3W t~~~ v:cn~
~~I~CfiT~~aifcmrcm~~~~

mrn Iem::v:cn~ anqq; ~ ~ ~ \ifffi ~m~"J:fRT

~f<fi-qU&1T?jf CfiT~ CfiT~~~ ~ t am:

-m CiiW ~ ~ Kzrr ~ I

3. -aiITCfIl~ 'ctir-IT ~ ~ :

~~"lITf.rmfcm<tm~~ ~~ ~TTiT

~ <t f.:mR CfiT ~ ~ ~ ~ I am:"3W CfiT

iilffi ~~"Ff~"3WCfiT"CPFf~~ I

4. -aiIT-We cita.rcn CfIl~ :

(i) cft~ CfiT ~ -~ mtR ~ ~ ~F1~ild q;{ ~

f<fi~-~~~~1RW~~-"1'ltr,

'ffi;f ~, ~&R, "!m-~ CfiT~ ~

f.fmfuf ~ 1R "iteli-~ ~ TTiT~ I

(ii) 'QU&TT'3Q'{Rf1ffia:mffCfllmr.r-~ am-ltlW

~~CFit~t'1

5. '8ffi'-We ci; ~ 'ij tmnu;ft :

~-~CfiT~q;@ ~yt ~~-mcr"1Fft ~ I

W~, ~"lIT~~~~"~~~~

~ ~ ~ 7ftffi CfiTffi ~ ~~ ~.~ f<fi~

~~~W~-q~'~1
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